

CR–Submanifold of a Lorentzian Para Sasakian Manifold

S.P. Pandey

Department of Mathematics, F.E.T., R.B.S. College, Agra

Lakhan Singh

Department of Mathematics, D. J. College, Baraut, Baghpat

Shailendra Kumar Gautam*

Department of Mathematics, Eshan College of Engineering, Mathura

Abstract:

In this paper, we study CR-submanifold of a Lorentzian Para – Sasakian manifold. The integrability condition and parallel horizontal distribution also have been discussed.

Key Words: Differentiable manifold, vector-field, 1-form, Lorentzian metric, sub-manifold, distribution, tangential, normal, horizontal and vertical components.

1. LORENTZIAN PARA-SASAKIAN MANIFOLD

Let \tilde{M} be a differentiable manifold of dimension n (odd). Let there exist a tensor F of type $(1, 1)$, a vector field U , a 1-form u and a Lorentzian metric g satisfying for X, Y, Z, \dots , tangent to \tilde{M} ,

- 1.1 a) $F^2X = X + u(X)U$,
- b) $u(U) = -1$,
- c) $u(X) = -g(X, U)$,
- d) $g(FX, FY) = -g(X, Y) + u(X)u(Y)$,
- e) $(\tilde{\nabla}_X F)Y = -g(X, Y)U + u(X)u(Y)U + [X + u(X)U]u(Y)$

then (\tilde{M}, F, U, u, g) is called a Lorentzian Para-Sasakian structure and \tilde{M} is called Lorentian Para-Sasakian manifold.

From the definition, we obtain

- f) $FU = 0$,
- g) $u(FX) = 0$,
- h) $\tilde{\nabla}_X U = FX$,
- i) $\text{rank}(F) = n-1$.

2. CR-SUBMANIFOLD OF A LORENTZIAN PARA-SASAKIAN MANIFOLD

Definition 2.1 : Let M be a Riemannian sub-manifold of a Lorentzian Para-Sasakian manifold \tilde{M} . The submanifold M is called a CR-submanifold of \tilde{M} if.

- 2.1 a) M is tangent to U ,
- 2.2 a) There exists a differentiable distribution $D : x \rightarrow D_x \subseteq T_x(M), \forall x \in M$, such that $FD_x \subseteq T_x(M)$
- b) The orthogonal complementary distribution of $D, D^1 : x \rightarrow D_x^1 \subseteq T_x(M), \forall x \in M$ such that $FD_x^1 \subseteq T_x^1(M)$

From the definition, it is clear that

$$T(M) = D \oplus D^1,$$

$$T^1(M) = FD^1 \oplus \mu,$$

Where μ denotes the orthogonal complement of FD^1 . Let g be the induced metric on M . Let $\tilde{\nabla}$ and ∇ denote the covariant differentiation in \tilde{M} and M respectively, then we have Gauss formula.

$$\tilde{\nabla}_X Y = \nabla_X Y + h(X, Y), \quad \forall X, Y \in T(M)$$

Again Weingarten formula is

$$\tilde{\nabla}_X N = -A_N X + \nabla_X^1 N, \quad \forall X \in T(M) \text{ and } N \in T^1(M).$$

From (2.5) and (2.6)

$$2.7 \quad g(h(X, Y), N) = g(A_N X, Y).$$

We put

$$2.8 \quad X = PX + QX, \quad \forall X \in T(M),$$

Where $PX \in D, QX \in D^\perp$.

$$2.9 \quad FN = BN + CN, \quad \forall N \in T^1(M),$$

where BN (respectively CN) is the tangential (respectively normal), component of FN .

3. INTEGRABILITY OF DISTRIBUTIONS ON CR-SUBMANIFOLD

First of all, we establish two lemmas.

Lemma (3.1) Let M be a CR-submanifold of a Lorentzian Para-Sasakian manifold \tilde{M} . Then

$$3.1 \quad \begin{aligned} P\nabla_X FPY - PA_{FQY} X &= FP\nabla_X Y - g(X, Y)PU + u(Y)PX \\ &+ 2u(X)u(Y)PU, \end{aligned}$$

$$3.2 \quad \begin{aligned} Q\nabla_X FPY - QA_{FQY} X &= Bh(X, Y) + u(Y)QX - g(X, Y)QU \\ &+ 2u(X)u(Y)QU, \end{aligned}$$

$$3.3 \quad \nabla_X^1 FQY = FQ\nabla_X Y + Ch(X, Y) - h(X, FPY),$$

$$3.4 \quad \begin{aligned} \nabla_X FPY - A_{FQY} X &= FP\nabla_X Y + Bh(X, Y) - g(X, Y)U \\ &+ u(Y)X + 2u(X)u(Y)U, \end{aligned}$$

$$3.5 \quad \begin{aligned} \nabla_X FPY + \nabla_Y FPX - A_{FQY} X - A_{FQX} Y &= FP\nabla_X Y + FP\nabla_Y X \\ &+ 2Bh(X, Y) - 2g(X, Y)U \\ &+ u(Y)X + u(X)Y \\ &+ 4u(X)u(Y)U. \end{aligned}$$

Proof: From (1.1)(e)

$$(\tilde{\nabla}_X F)Y = -g(X, Y)U + u(Y)X + 2u(X)u(Y)U,$$

$$3.6 \quad \tilde{\nabla}_X FY - F(\tilde{\nabla}_X Y) = -g(X, Y)U + u(Y)X + 2u(X)u(Y)U.$$

Using (2.5), (2.8), (2.9) in (3.6),

$$\tilde{\nabla}_x F(PY + QY) - F(\tilde{\nabla}_x Y) = -g(X, Y)U + u(Y)X + 2u(X)u(Y)U.$$

$$\begin{aligned} \tilde{\nabla}_x FPY + \tilde{\nabla}_x FQY - F[\nabla_x Y + h(X, Y)] \\ = -g(X, Y)(PU + QU) + u(Y)(PX + QX) \\ + 2u(X)u(Y)(PU + QU) \end{aligned}$$

$$\begin{aligned} \nabla_x FPY + h(X, FPY) + [-A_{FQY}X + \nabla_x^1 FQY] \\ - F[P\nabla_x Y + Q\nabla_x Y] - F[h(X, Y)] \\ = -g(X, Y)(PU + QU) + u(Y)(PX + QX) \\ + 2u(X)u(Y)(PU + QU) \end{aligned}$$

$$\begin{aligned} 3.7 \quad \nabla_x FPY + h(X, FPY) - A_{FQY}X + \nabla_x^1 FQY \\ - FP\nabla_x Y - FQ\nabla_x Y - Bh(X, Y) - Ch(X, Y) \\ = -g(X, Y)(PU + QU) + u(Y)(PX + QX) \\ + 2u(X)u(Y)(PU + QU) \end{aligned}$$

Equating horizontal parts on both the sides of (3.7),

$$\begin{aligned} P\nabla_x FPY - PA_{FQY}X - FP\nabla_x Y = -g(X, Y)PU \\ + u(Y)PX \\ + 2u(X)u(Y)PU, \end{aligned}$$

$$\begin{aligned} 3.8 \quad P\nabla_x FPY - PA_{FQY}X = FP\nabla_x Y - g(X, Y)PU \\ + u(Y)PX + 2u(X)u(Y)PU \end{aligned}$$

Equating vertical parts on both the sides of (3.7)

$$\begin{aligned} Q\nabla_x FPY - QA_{FQY}X - Bh(X, Y) = -g(X, Y)QU \\ + u(Y)QX \\ + 2u(X)u(Y)QU, \end{aligned}$$

$$\begin{aligned} 3.9 \quad Q\nabla_x FPY - QA_{FQY}X = Bh(X, Y) - g(X, Y)QU + U(Y)QX \\ + 2u(X)u(Y)QU, \end{aligned}$$

Equating normal parts on both the sides of (3.7)

$$h(X, FPY) + \nabla_x^1 FQY - FQ\nabla_x Y - Ch(X, Y) = 0,$$

$$3.10 \quad \nabla_x^1 FQY = FQ\nabla_x Y + Ch(X, Y) - h(X, FPY)$$

Adding (3.8) and (3.9)

$$\begin{aligned} 3.11 \quad \nabla_x FPY - A_{FQY}X = FP\nabla_x Y + Bh(X, Y) - g(X, Y)U \\ + u(Y)X + 2u(X)u(Y)U. \end{aligned}$$

Interchanging X and Y in (3.11)

$$3.12 \quad \nabla_Y FPX - A_{FQX} Y = FP\nabla_Y X + Bh(X, Y) - g(X, Y)U + u(X)Y + 2u(X)u(Y)U.$$

Adding (3.11) and (3.12)

$$3.13 \quad \begin{aligned} \nabla_X FPY + \nabla_Y FPX - A_{FQY} X - A_{FQX} Y \\ = FP\nabla_X Y + FP\nabla_Y X + 2Bh(X, Y) \\ - 2g(X, Y)U + u(Y)X + u(X)Y \\ + 4u(X)u(Y)U. \end{aligned}$$

Lemma (3.2) : Let M be a CR-submanifold of a Lorentzian Para-Sasakian manifold \tilde{M} , then $\forall Y, Z \in D^1$

$$3.14 \quad \begin{aligned} FP[Y, Z] = A_{FY} Z - A_{FZ} Y + u(Y)Z - u(Z)Y. \\ \forall Y, Z \in D^1 \end{aligned}$$

Proof : For $\forall Y, Z \in D^1$

$$3.15 \quad \tilde{\nabla}_Y FZ = (\tilde{\nabla}_Y F)Z + F(\tilde{\nabla}_Y Z).$$

Using (1.1) (e), (2.5), (2.6) in (3.15)

$$3.16 \quad \begin{aligned} -A_{FZ} Y + \nabla_Y^1 FZ = -g(Y, Z)U + u(Y)u(Z)U \\ + [Y + u(Y)U]u(Z) \\ + F[\nabla_Y Z + h(Y, Z)]. \end{aligned}$$

Using (2.8) and (2.9)

$$3.17 \quad \begin{aligned} -A_{FZ} Y + \nabla_Y^1 FZ = -g(Y, Z)U + u(Z)Y + 2u(Y)u(Z)U \\ + F[P\nabla_Y Z + Q\nabla_Y Z] \\ + Bh(Y, Z) + Ch(Y, Z). \end{aligned}$$

Using (3.3) in (3.17),

$$\begin{aligned} -A_{FZ} Y + (FQ\nabla_Y Z + Ch(Y, Z)) - 0 = -g(Y, Z)U + u(Z)Y \\ + 2u(Y)u(Z)U \\ + FP\nabla_Y Z + FQ\nabla_Y Z \\ + Bh(Y, Z) + Ch(Y, Z). \end{aligned}$$

$$3.18 \quad \begin{aligned} FP\nabla_Y Z = -A_{FZ} Y + g(Y, Z)U - u(Z)Y - 2u(Y)u(Z)U \\ - Bh(Y, Z). \end{aligned}$$

Interchanging Y and Z in (3.18)

$$3.19 \quad \begin{aligned} FP\nabla_Z Y = -A_{FY} Z + g(Y, Z)U - u(Y)Z - 2u(Y)u(Z)U \\ - Bh(Y, Z). \end{aligned}$$

Subtracting (3.19) from (3.18)

$$FP[Y, Z] = A_{FY} Z - A_{FZ} Y + u(Y)Z - u(Z)Y.$$

Theorem (3.1): Let M be a CR-submanifold of Lorentzian Para-Sasakian manifold \tilde{M} . The distribution D is integrable if and only if.

$$3.20 \quad h(X, FY) = h(Y, FX), \forall X, Y \in D.$$

Proof: As $Y \in D$

$$\Rightarrow QY = 0, PY = Y$$

$$3.21 \quad \nabla_X^1 FQY = 0.$$

From (3.3) and (3.21)

$$FQ\nabla_X Y = h(X, FPY) - Ch(X, Y),$$

$$3.22 \quad FQ\nabla_X Y = h(X, FY) - Ch(X, Y).$$

Interchanging X and Y .

$$3.23 \quad FQ\nabla_Y X = h(Y, FX) - Ch(Y, X).$$

Subtracting (3.23) from (3.22)

$$3.24 \quad FQ[X, Y] = h(X, FY) - h(Y, FX).$$

Thus D is integrable iff $X, Y \in D \Rightarrow [X, Y] \in D$

$$\Rightarrow Q[X, Y] = 0.$$

Thus D is integrable if and only if

$$h(X, FY) = h(Y, FX)$$

Theorem (3.2): Let M be a CR submanifold of a Lorentzian Para-Sasakian manifold \tilde{M} . The Distribution D^1 is integrable if and only if.

$$3.25 \quad A_{FY}Z - A_{FZ}Y = u(Z)Y - u(Y)Z, \forall Y, Z \in D^1$$

Proof: From (3.14) $\forall Y, Z \in D^1$

$$3.26 \quad FP(Y, Z) = A_{FY}Z - A_{FZ}Y + u(Y)Z - u(Z)Y$$

D^1 is integrable if and only if $Y, Z \in D^1 \Rightarrow [Y, Z] \in D^1$

$$\Rightarrow P[Y, Z] = 0.$$

Thus,

$$3.27 \quad FP[Y, Z] = 0.$$

From (3.26) and (3.27) D^1 is integrable if and only if $A_{FY}Z - A_{FZ}Y = u(Z)Y - u(Y)Z$.

Corollary: Let M be a U – horizontal CR-submanifold of Lorentzian Para-Sasakian manifold \tilde{M} . The distribution D^1 is integrable if and only if)

$$3.28. \quad A_{FY}Z = A_{FZ}Y, \forall Y, Z \in D^1$$

Proof: Since M is U -horizontal $\Rightarrow U \in D$

Thus $\forall Y \in D^1$

$$g(Y, U) = 0.$$

3.29 $u(Y)=0$; similarly $u(Z)=0$

Thus from above theorem, D^1 is integrable if and only if

$$A_{FY}Z = A_{FZ}Y$$

4. PARALLEL HORIZONTAL DISTRIBUTIONS OF CR-SUBMANIFOLDS

Definition (4.1) The U horizontal distribution D is called parallel if $X, Y \in D \Rightarrow \nabla_X Y \in D$,

Theorem (4.1): Let M be U-horizontal CR-submanifold of a Lorentzian Para-Sasakian manifold \tilde{M} . The distribution D is parallel if and only if.

4.1 $h(X, FY) = h(FX, Y) = Fh(X, Y), \forall X, Y \in D$

Proof : Since M is U-horizontal, $U \in D$

4.2 $QU = 0$

Also $X, Y \in D \Rightarrow QX = 0 = QY, Y = PY \in D, FPY \in D$.

Thus,

4.3 $FQY = 0, A_{FQY} = 0, FPY \in D, QX = 0$.

Let us assume that D is parallel, then from equation (4.3)

4.4 $\nabla_X FPY \in D, Q\nabla_X FPY = 0$.

From (4.2), (4.3), (4.4) and (3.2)

4.5 $Bh(X, Y) = 0 \Rightarrow Fh(X, Y) = Ch(X, Y)$.

Again $X, Y \in D$ and D being parallel.

4.6 $\nabla_X Y \in D \Rightarrow Q\nabla_X Y = 0$.

From (3.3) using (4.2), (4.3) and (4.6)

4.7 $Ch(X, Y) = h(X, FY)$.

Using symmetry of h

4.8 $Ch(X, Y) = h(X, FY) = h(Y, FX)$.

From (4.5) and (4.8)

$$h(X, FY) = h(Y, FX) = Fh(X, Y).$$

Conversely, let us assume that

$h(X, FY) = h(Y, FX) = Fh(X, Y)$, hold good then with this condition and first equation of (4.3), equation (3.3) gives $\nabla_X Y \in D$. Thus D is a parallel distribution.

Reference:

1. Adati, T. and Miyazava, T. : Some properties of P-Sasakian manifolds, TR U math; 3 (1977), 33-42.
2. Bejancu, A.: Geometry of CR-submanifolds. D. Reidel Publishing Company, (1986).
3. Bishop, R. L.. and Crittenden, R.J. : Geometry of manifolds, Acaemic press, New York (1964).
4. Chen, B.Y. : Geometry of submanifolds and its applications, Sci., Univ. Tokyo, 1981.
5. Chen, B.Y. : Geometry of submanifold, Dekker, N.Y., 1973.
6. Ojha, J., Ahmed, M. : CR submanifolds of a Lorentzian Para-sasakain manifold endowed with the canonical semi-symmetric, semi metric connections, Int J. contempt. Math. Sciences, Vol 5, No 33 (2010).
7. Srivastava, Asha and Bhatia Kamal : On CR submanifolds of Lorentzian Para-sasakain manifolds. Acta Ciencia, Indica, Vol. XXXVIII, M. No. 4, 549 (2012), 549-554.